Topics: for loops e N ( AW Clasg .

What is displayed by the following code? l L‘ ‘ ‘ ‘

f = function(n) { v

for { K )( F.OV\
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return(c(x, n)) /"\
} WIS S et
# What does this display? V\
#result = f(4) \__} W ' Lt q [(, \

. — —

# What does this display? —
#result
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Topics: for loops, nested loops

What is displayed by the following code? )

f = function(n) { &

"for (y in x:n){ :
Cat("X is ", X, " ") l‘r\
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return( c(x,y)
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for (x in 1l:n){
(: cat("*** starting outer for loop again***\n")




Topics: while loops, cat vs return

What is displayed by the following code? ,\

X
St @ @

while (n >= 1){
cat (X, " ")
X =X * 2
n=n-1

}

cat ("\n")

return(c(x, n))
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# What does this display? ;
#x = f£(4) v

# What does this display?
#x
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Topics: for loops, nested loops, if G
E

What is displayed by the following code? { SR |

drawSomething = function(size) {

fif (!is.numeric(size) || trunc(size) != size || size < 0){

L\ stop("size must be a non-negative whole number" Yﬂ \>
} [9S12€_ ovJ

(bw
4.for (row in l:size) { ' ?;
E for (col in 1l:size) { /l/zg J Z
1f %col == row || col == size - row + 1){
cat
} else

cat (" [ Siee (w

}

}
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\ cat ("\n")

cat ("\nHope you like the picture! :

}

# What do these display?
fdrawSomething (3) ~—
#drawSomething (5) ~
#drawSomething (1)
#drawSomething (0) # be careful!
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Topics: for loops, nested loops, if

The only thing that changed are the lines that are highlighted in the code with “# THIS CHANGED”.
What will be displayed now?

drawSomething = function(size) {
if (!is.numeric(size) || trunc(size) != size || size < 0){

stop("size must be a non-negative whole number")

}
for (row in l:size) {

for (col in 1l:size){

if (col == row || col == size - row + 1){ # THIS CHANGED
e # THIS CHANGED
if ( row %% 2 == 0) # THIS CHANGED
cat ("0") # THIS CHANGED
else # THIS CHANGED
cat ("X") _] \ # THIS CHANGED
' > # THIS CHANGED
} else {
Cat(".")
}
}
cat ("\n")
}
cat ("\nHope you like the picture! :)\n")

}

# What does this display?
#drawSomething (5)



Topics: for loops, nested loops, if SZQ

What is displayed by the following code?

drawSomething = function(size) {
if (!is.numeric(size) || trunc(size) != size || size < 0){

stop("size must be a non-negative whole number")

}

p=for (row in l:size) { Q\M [25;29 (T©W>
=if( row == 1 || row == size ){ [ o
or (x in 1l:size) {
rcat("—") % L i 3 V( \
}

cat ("\n")

} else { ) .>
£ (col in 1l:size) { .
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(.‘if (col == 1){
cat ("|") T3>
} else if (col == size) {
cat ("|\n") y > f;/
} else if (row == col) { Z
cat("x™) AZ:’S

} else {

L} cat (".")

)

L

# What does this display?
#drawSomething (5)




